


0.5

0.5

0.5

0.5

0.5

0.5

110 cells
—e— 125 cells
2 3 4 5 6 7 8 910
— k
Ncells = 50 Ncells =55 Ncells = 60 Ncells = 65 Ncells =70
1 1 1 1
0.5 0.5 0.5 0.5
0 0 0 0
2 2 2 2 3 2 3
Ncells =75 Ncells =80 Ncells = 85 Ncells =90 Ncells =95
1 1 1 1
0.5 0.5 0.5 0.5
0 0 0
2 3 2 3 4 2 4 2 4 6 2 4 6
Ncells = 100 Ncells = 105 Ncells=110 Ncells =115 Ncells =120
1 1 1 1
0.5 0.5 0.5 0.5
0 0 0 0
2 4 6 2 4 6 8 2 4 6 8 2 4 6 8 5 10
Ncells =125 Ncells =130 Ncells =135 Ncells = 140 Ncells = 145
1 1 1 1
0.5 0.5 0.5 0.5
0 0 0 0
5 10 5 10 2 4 6 8 10 2 4 6 8 10 2 4 6 8 10
Ncells =150 Ncells =155 Ncells = 160 Ncells = 165 Ncells =170
1 1 1 1
0.5 0.5 0.5 0.5
0
2 4 6 8 1012 2 4 6 8 10 12 2 4 6 8 10 12 2 4 6 8 10 12 2 4 6 81012
Ncells =175 Ncells =180 Ncells = 185 Ncells =190 Ncells =195
1 1 1 1
0.5 0.5 0.5 0.5
0 0 0 0
2 4 6 8 1012 2 46 8101214 5 10 15 5 10 15 5 10 15

—e— 35 cells
—a— 50 cells
—eo— 65 cells
—e— 80 cells
—ae— 95 cells

Hy













Pairwise error (fraction of L)

Pairwise error (fraction of L)

Nfields = 90
0.12
0.1
0.08
0.06
0.04
0.02 L : - : : -
0 2 4 6 8 10
Percentage of cells with two fields
Nfields = 140
0.12 | '
0.1
0.08
0.06 _
oo

0.02

0 2 4 6 8 10
Percentage of cells with two fields

Mismatch (fraction of L)

Mismatch (fraction of L)

0.12

0.1

0.08 1

0.06

0.04

0.02

Nfields =90

0 2 4 6 8 10

Percentage of cells with two fields

Nfields = 140

o
o
&

‘\!_

0 2 4 6 8 1
Percentage of cells with two fields

0




237

23
347

34

subgraph for cell 8 subgraph for cell 3



